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Roll No.

Joral NNT 9 AR WhioRIAT URIeT — 2022
NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION — 2022

MAT AND SAT

: 180
T ;180 fiFe ‘I"ﬁ’f .:80
Time : 180 Minutes Max. Marks :

wWenffat & forw €9 / Instructions to Candidates
el @ SR 3 W Usa Frefafaa Pl o e @ ufev |

Read the following instructions carefully before you answer the questions.

1. 1 A TRR, o 5 ofud vaw ux ¥ fagr 1. Please write your Roll No. as given on your
! Admission Card, very clearly (only one digit in one

T R, W fofay (@ dfew A dael U6 37) box).
SEUS IR . Example:
EBDEE0NEN00N EEEEEENON00E 7
2. 9 Uy UF gRae § o 32 S &, offom a1 2. This question paper booklet contains 32 pages.
IS W% & & fog @rell Bis MW Bl ‘ Last two pages are left blank for rough work. . <
3. U U & SR, SuR-UA® § 9 Uv9 §=1 3. - One ovallcircle of correct answer should be
@ 9M9 ey U el § ¥ 98 fAdey areh darkened by the candidates with Blue/Black Ball
T B m/qﬁ i/ sadfaddad s . Penofcorresponding question of the OMR sheet. If
P AT | e 7 BN WR R g 9 U@ A scanner is unable to read the darkened oval/circle
&) e w@d gdemit &) enft| - then all the responsibility lies on the candidate.
4, SHYHE A gﬁﬁ'c“ﬁr # @ 180 We fRy I €| 4. This question paper booklet - contains 180
T U T 3P D B | questions. All questions carry equal marks.
5. 9 uvd f=< qd iUl (fgwm) o qfad €1 5. Al questions are printed in Hindi and English
. ' - (Bilingual).
6. YTl & APRIHS H Tal & 6. There is No Negative marking in questions.

de 1. mgﬁamﬁmﬁawwwﬂ%%ﬂﬁquwm
G B A D
FfaReT w8 o 7 fafay)
2. %ﬁdﬁaﬁw%nﬁﬁﬁé%maﬁwﬁwa#uﬁﬁmﬁw
. ST |
Note : 1. Do not write anything anywhere in the booklet except your Roll Number and Rough Work at the
place meant for it.

2. In case any difference is found between Hindi and English medium uestions, H
" questions will be treated as correct. . q indi medium
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2. | MAT - Q. No. (1 to 90)

PART - A
R MENTAL ABILITY TEST
R — (1-10) - fq Ty Riget LR Direction: Questions (1-10) :- Find out missing
TS S BT | term from the given alternatives.
L 13,19, s 9 | Lo 1,3,1,9, Lo ?
(n 18 (2) 81 (1) 18 (2) 8l
3) 29 4. 10 ‘ 3 29 @ 10
2. 2412 7 T V5 | B ?
1 36 @ 40 1 36 2) 40
3) 48 @ 50 @) 48 @ 50
30 39,1521 ? | I X [0 TN —p— ?
a1 24 2 36 1 24 ) 36
@ 27 @ 35 | 3 2 @ 35
4. RP_PP_PRR_J_PJPR . ‘ 4. RP_PP_PRR_J_PJPR
(1) JRRP () JIPP (1) JRRP () 1IPP
(3) RPPR @) JPIP (3) RPPR @) JPIP
5. MNNP_NNP__NP_NNP A 5. MNNP_NNP__NP_NNP
(1) MMNM (2) NNMN (1) MMNM (2) NNMN
(3) PPMM (4 MNPN (3) PPMM 4) MNPN
6. HEJLGN,_ ,TKVXMZ 6. HEJLGN,__,TKV,XMZ
(1) PRQ () PR (1) PRQ 2) PIR
@) PM @ PIS | 3) PM @) PIS
7. CD,FGHJKLM, ..co.e. 7. CDFGHJKLM,.......... ‘
(1) OPQRTS (2) OPQSRT "~ (1) OPQRTS (2) OPQSRT
(3) OPQTSR (4) OPQRST (3) OPQTSR (4) OPQRST
8. A, AB,ABC,.. ' 8. A, AB, ABC,...
(1) BCD . (2) ABCD (1) BCD (2) ABCD
(3) CBD  (4) ACBD (3) CBD ' (4) ACBD
9. ABC.ZYX::BCD.............. 9. ABC.ZYX:BCD..............
1  YXW @2) XYW Q) YXW 2) XYW
(3) YWX @) XYZ 3) YWX 4) XYZ
NMMS " Page 2 of 32 i
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10. AZPK.,BYQJ,CXRL,.....cooruruene ' 10. AZPK,BYQJ,CXRL,..................
(1) DHSW (2) DSHW (1) DHSW (2) DSHW
(3) DWHS (4) DWSH 3 DWHS (4 DWSH

forder: weH(11-20):- FRefoRaa we=t # fasmdg Direction: Questions(11-20):- Select the odd

g &1 Eﬂ'cf PR | term in the fqllowing questions.

1. (1) =@d 2) WTHT 1. (1) Rice (2) Maize
3 g @ faa (3) Wheat @) Sesame
12. 1) = (2) ImM=< 12. (1) Happiness- (2) Delight
3) S 4) 399 | (3) Pleasure (4) Sad
13. (1) < @) 13. (1) Iron ) Silver
@) @ dfr (3) Brass 4) Copper
4. (1) G @) o 14. (1) February ) April
@) @ @) IR (3 Jume (4 November
15, (1) =f @ ™ 15. (1) Poet (2) Singer
3) TP _ @ fa (3) Dancer (4) Song
16. (1) SHEAR (2) TR 16. (1) Jaipur (2) Gandhinagar
@) frer = @) YU (3) Chittorgarh  (4) Bhopal
17. 1) YWU ) SQO 17. (1) YWU ) SQO
3) MKI @) PON @) MKI 4) PON
18. (1) 169 () 343 18. (1) 169 2) 343
@) 144 @) 324 () 144 @ 324
19. @1 Rh (2) TSR 19. (1) Delhi @) 'Raj.asthan
@) ToRE @) TERE (3). Gujarat @) Maharashtra
20. 1) £ @ 20, O /] @
3 A @ [~ 3 A @ [~

NMMS' Page 3 of:32

Scanned with CamScanner



e w129

(21-25) :-
image  of (e

Direction: Questions In the followiny

questions visualise
letter/word/picture in the mirror. The Position of

the

the mirror is given. Choose the correct image

from the given options -

Rygreat % Wl wfafd g -
21. :
Mirror)
n gm) 69 Z (Mirr
M % 2 @ (1) % s
@) 6 O (3). s¢ @
22
g\ ' i
3 . 44 <P g (fon) qq <P E (Mirror)
O qPp @ qqq 0 qPP Y 494
O Ppp O qPq O PPP O 4P
23. PRT g(gﬂ'q) £ PRT g (Mirror)
(1) TRP @ 14 (1) TRP @ Tq8
© anr “ r1aq @ qqr @ 194
i NAME% (afor) 24 NAME ? (Mirror)
(1) 3mAU (2) EMAN (1) 3IMAU (2) EMAN
G) WAW3Z (4) NVNE ) uan3 (4) NVIE
25. ‘
cwezF (@) £ CWBZFg (Mirror)
(1) 3zawc @) 338W9 (1) 3zawc @ 3saW9
(3 owax3 (4) wcazs (3) owsass (4) wcaz3
26. S UM @ Q1 Rufaat Ras 78 € R 26, Two positions of a dice are sho i
g wn. In which
B?I?R 5 '&"T Sa9H A & gag w® aﬂT{ T b there is 5 on the top which number will be
there on the bottom surface‘7
@ 4 (2) 6 n 4 ) 6
3 3 @ 2 ‘ 3 3 @ 2
NMMS Page 4 of 32 |
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” _ T @ R B s w 6@ 27. What will be opposite of 6 based on the

following pmitions‘ of a dice?

Aol wm Imm?
2 2 (2) 2
@) 1 @ 3 3 1 @ 3
28. fy=ifea T & Rl & MR R 4@ 28. What will be opposité of 4 based on the
fuda T JmA? following positions of a dice?
‘ 2) 5 2) 5
'-‘(3) 6 @1 3 6 @ 1
29. faifea o o Ryfodl @ smaR R 6 @ 29. What will be opposite of 6 based on the
faudia @1 mARTT? : - following positions of a dice?
(2) 2 2 2
3 3 @1 @ 3 @ 1

30. Ry Y R # i 5 waw & AT Wag  30.  In the given picture what will be the number

R P T 3F BIT? ~ on the face opposite to face with number 5?
@ 4 2) 4
@ 1 @) 2 3 1 @ 2
NMMS Page 5 of 32
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3. R TG ot 4 g R it 22

a 10 @) 6
@) 8 @ 7
32. fu v fRF A sl @ g fa 87

M 6 @ 9
3) 4 ) 8
33. fag v R § Brgell @ d@r Ay -

a 6 2 8
3) 9 @ 7

3. foy T SufRE fm & g fea wge 34

&7
1 1n 2) 8
@) 6 ' @ 9

. @ fE A smdl A g wen @ 3s.

: in the given
ares are there
How many squ

figure?

a 10 2) 6

3 8 @ 7

How many rectangles are there in the given
figure?

@ 6 2 9

3 4 : 4 8

How many triangles are there in the given
figure?

Q) 2 @ 7

How many quadrilaterals are there in the

following geometric figure?

1 1n 2) 8
B 6 @ 9

What will be the total number of rectangles in

?
B the square figure?
M 18 2) 29 M 18 | |
2
@) 36 @ 22 3 36 8 ig
N
MMS Page 6 of 32
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Ry (36-40) - T ST, TR Ry B, g
3o fwa &1 @ P 2= v &1 gwifar

2 o anepfa ¥ Y Y 3B U §Y BEAT BY

T & Y e el @ SR diRTe —

Direction: (36-40) :- If rectangle shows Maths
subject, circle shows English subject and triangle
shows Hindi subject and given numbers in figure

shows pass out students, then answer the

following questions -

36. V9 fbaw o § o Wi fdwy § S=ivf €2 36.  How many students pass in all subjects?
@ 7 2) 10 ' m 7 2 10
@) 8 . @ 6 . | 3 8 4 6
37. W fobos v % S pad %Tfﬁ fawg & E?ﬁ“f 37. How many students passed only in Hindi
& : subject? V
M 6 ) 16 = (D6 2)._go
3 2 @ 10 » G 2 @ 10
38. UH fha B= & W1 $aa s Sﬁ'\’ TG 38. How many students passed in English and
el faga & Sdof €7 - Maths both subjects only?
@ 3 (2) 16 @ 3 ) (2) 16
3 2 | ) 10 Q) 2 @ 10
39. W fraT v § W Gl'ﬂﬁﬁ q &=l i ¥  39.. How many students passed in Enghsh and
<4drof &7 Hindi both subjects?
@ 2 (2) 5 @ 2 @ 5
(3) 10 - @ 10 - @ 16
40. T foa v & o Eﬁ'd?{ Trﬁ’rﬁ H E?ﬁ“f 40. How many students passed only in Maths
g2 subject? ‘
1 .18 @ 13 (1) 18 (2) 13
3 5 @6 @ 5 @) 6
e fafaReaa SeRal o s ¥ e Direction: Read the following information
T T T (41-43) B SR AT E:;egl)ly and answer the question numbers
(1) P,QR,S,T,U RN AR = € qer (1) P,QR,S,T,Uand V are seven friends
b g @ ARl AR B DI AR T and are sitting around a circle facing
TP IO T the centre. |
Q@) V', D T AR W TR WH W (2) ‘V’is second to the left of ‘S’ and is
§ T TTG U BT Uge 81 - the neighbour of “T” and ‘U,
) ‘S’ ‘R’ 3R ‘T’ &1 USKRA & & | e o |
s s - (3) ‘S’ is not a neighbour of ‘R’ and ‘T".
@ P IQ R R m 8l (4) ‘P’ is neighbour of ‘Q’ and R
- NMMS Page 7 of 32
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A B % R D Rerfy o e 41.
(1) Q& arl ek R M W
2) U <l 3R dR e
(3) P A Il 3R
@) T A PR TE
42, ‘Q @ TSRl A g7 42.
(1) PT®IV (2) STWNU
(3) PTuT s @ U@ T :
43. V@I Q d WA DI IS &7 43.
@ US 2 V,T
3 S.Q @ 3™ I B
EE|
44. Gy @ HT S ¥ 3R W@ AR DA 44
21 W=l ag @ gl 7, a1 arg 4R Bl
AT AT 57
@ o 2) 13
3) =@ @ =3 |
45. B,C & fiar ® W=y C, B &1 g =& .81 45.
C,B ¥ ¥ gHfa 87,
1) Hr 2 =
3 g 4) foar
46. ¥RH APy & AT €, AT BT G GRAY ¥ 46.
(1) wE—afeT
(2) SRRl
(3) arE—ard
@) ufo—ucit |
47. mﬁﬁmzﬁ»sﬁﬁﬁa—é%w,@m% 47.
- g@ B o
1) A
(2) TI<T
@) A
@ g
NMMS
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‘What will

. the position of “Rin

following?
1) Gecond to't -
2 Third to the ng
(3) Tothe immediate

(4) None of these ’
he neighbours of ‘Q’?

he left of Q
ht of U
left of P

Who are t

(2) Sand U
83 11: Zzg ;/ 4 Uand T
Who are sitting between V and Q?
@ US 2 V,T
3 S.Q (4) None of these

Piyush is Rekha’s brother and Rekha is

daughter of Anandi. Anandi is Vasu’s wife.

" What is the relation of Vasu with Piyush?

(2) Brother
.(4) Uncle

(1) Father

(3) Grandfather
B is father of C, but C is not ‘B’s son. How is
C related to B?

(1) Mother (2) Daughter

.(3) Son (4) Father
Sourabh is Ayush’s father and Surbhi is
Sourabh’s _daughter.' What is the relation
between Ayush and Surbhi?

(1) - Brother-Sister

) Grandfather-Grand daughter

3) Uncle-Aunty

4) -Husband-Wife

:":m is the relation between father in law of
1a’s mother in Jay’g ith Sita’
| onl h Sita’s
children? it '

(1) Maternal uncje

() Grandfather

3)  Materna] grandfather
@  Son
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ma%gaa%gaaﬂméﬂgﬁé.a‘wga

48. 48. Manoj’s son’s son’s brother is Rahul, then
P AN @ wT T 27 how is Rahul related to Manoj?
a o (2) s (1) Brother (2) Nephew
(3) @ i (3) Grandson (4) Niece
49. i afor fem ¥ WS YVR 1S B 49, Pratigya started walking in the south direction
TN B I T IR I I T e Qe and after walking 15 steps turned tohhe.r left
i -15 steps both times.
TR 15-15 T TA N AN TG FE HR | ;V:lf: tilllld h‘:\zjk::r slt?e is frolr)n her starting
o R ¥ A o | & point? :
(1) 47®<H (2) 31w (1) 47 Steps (2) 31 Steps
(3) 32FgH (4) 15®cH (3) 32 Steps (4) 15 Steps
50. ImMT UH TR | U4 ﬁ'?ﬂ P AR & & 50. Radha walked Skm from her house facing
Tell, 5 fPeieR Ie & 9% TR qe @ East and walked 3km after turning to her
q1c 3 ﬁﬁ?ﬂ’ﬁ?\’ TeAl, 1 AR ST TR WA right, tﬁen tell in which direction her house is
W fow faam 7 27 from herself?
O wE @) W‘W (1) North-East  (2) South-West
() Sw-uaReH (@) sfRv-gd (3) North-West  (4) South-East
51. 18 AU BR & g9 fwm @Y &k Yo aiet 51, Sohan walks 3km straight from the door that
XA ¥ W 3 feifier TR arft AR opens t(;wards the east of his house, walks
?q_‘"_": i 2 mg UE:N jﬁ; Wf i 2km to his left then turns left and walks Skm,
. TaT| gdTet 98 o W @{ ] frah Gl then turns left and walks 2km. How far is he
) 27 directly from his house?
1 2fx#A ) 12f6#A ‘1 2km ) 12km
3) 10 @) 5 3 10km (4 5km 4
frdw wea (52-61): Rt & < g Ry g Direction: Question (52-61): Two sets of
g TP WE UH 3{@%’&{ TAT TN FR figures are given one set is of Question
G} BT 8| U APpfaal B P v ’ﬁgureé and another set is of Answer figures.
P9 # crafRerd fbaT AT ¥ | SR anpfar A | Question figures are arranged in a sequence.
Ty % W T 39 UBR T 3 3 = One figure from the Answer figures i_sr to be
T SRt @ e B AS ¥ o D | selected such that it can be placed after .the
Taf SR PRy @ W w e series of_ question figures. Find the correct ’
A | ' serial number of the se}ected Answer figure.
NMMS
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N2 U MpfRIgi-

E%R 3 ferTi—

1)

)

A [, . “@
53. e nHfadi—
AL
NP RIY N
Sk —
(1) A @ [
Al T A
S Ny,
O Al @ |
AN A\
N N,
54. War@-t%mf._

| (3)

2)

@

Answer figures-
_—-————"’

()

&)

53. Question figures-

/X

___—.—-——_'
e—

A

' 52, Question figures”

(2)

C)

>

\Ll/

/|
2|

- Answer figures-

(1)

3)

/o\

A
>

54.  Question figures-

(2)

Q)

L

Answer figures-

1)

3)

NMMS

Page100f32 ~ ————

1]
1]

(2)

@
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S5, U Jpforr — 55. Question figures-
' WAL
G%Rf Jrepferi _ - Answer figures- I
1) = 2 |£“ ey (2
1
& M @ [T— @ = @, [=
L]
56. U Ipfadr — 56. Question figures-
OO OOI0IO
JR B — @ Answer figures-
1) ) @ )
(2 O & O
3) @ @ @ 3) @ @) @
57. u¥A Srgfoai — 57.  Question figures-
NOO|A OO OO
STR Jpfrt — | Answer figures-
1 @ | ) @ @ @ @) Q
3 C)) 3) @)
i () O )
NMMS Page 11 of 32
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8. e gt - <5 Question fiEUTe” |
- L i nofex

- Answer figures-

SRR il - .
1) ()() o () ( ()() ())(

)

o ol “hoq °fwo) S
59. W IMHfaAT — ' 59. Questlon ﬁgures . |
L e e A - (e
| E(—tli: e @) Q@Q o ijjwert:g;zs— 2) D%Q
= -
‘(3) ‘g‘. @) Q@‘_ ' 3 _‘e‘. .(4) le !
60. T agfdi — , - 60. Questioﬁ figures- - : _
od[¢|e] [0S
R ST — | Aﬁswer_ﬁgures-
a | BN @) _(%)‘ o [ R | @
P -
3 N 4) >-$— 3) >-€}- (4)i

NMMS "Page 12 of 32

Scanned with CamScanner




6l. YT 3 f — 61. Question figures-
4 4 6|l4_6 |6__8 -4 4_614_6 |63
. v g la 10 . _>8 4 Mo
2/\6 2 g |2 1>0 2C1>2 : 2A6 2 812710 | 27 12
SR mpfaar — Answer figures-
‘ 2 3
M [ 2ol @[5, D X g 2) sog
[ ]12 4\_/10 Olz a\_/10
S 212 ‘ a 2 12
B e ¥ I N I Vo
'2‘ 10 : 4212 | 2o 4212
62. WRE WHAR o, AT WA B 6T AR ENT? 62. If day before yesterday was Monday, then day
X, | ' after tomorrow will be - B
) Tefg 2 3 1) Tuesday (2) Wednesday
3) TR .. [4) . IwaR (3) Thursday (4) Friday
63. &M 99 Rf S IfAaR B 7491 €, A 63. In a year Gandhi Jayanti falls on Sunday,
. 99! a¥ 911 Raq @9 g? what will be the day on Children’s day in the
1) FER ) ¥TeER STy En,
a3 . i 5 (1) Monday (2) Tuesday
: ) 1 » ( ) 1 (3) Thursday (4) Friday
64, = A | B W ofig ad 8? W 64. Which is a leap year?
(1) 1882 (2) 1800 (1) 1882 (2) 1800
3) 1296 4) 1962 (3) 1296 4) 1962
65. a4 2022 % fhas |« B? 65. How many weeks are there in the year 2022?
(1) 48 - (2) 50 . 1 48 (2) 50
@3 52 @4 57 @) 52 @ 57 |
g weT (66-70): T 9 e ©: wag Direction: Question (66-70): All six surfaces
WX ol N7 9 ¥ fear a2, 89 IEEIGI of a cube are coloured by red colour and it is
e R W@uel d famfora &) fear ar 8, o ~ divided in cubes as shown in figure, then tell
how many cubes will be there in which?
66. Red colour on six surfaces -
1 6 2 1
@) 2 @ o
NMMS Page 13 0f 32 -
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67. Eﬂ?\qﬁgq\rﬁmwa_ 67.
1 s @ 10
@ 12 @) 6
68. 3 WaE W & el T & — 68.
1) 10 (2) 12
3 16 4) 18
69. TP I Gdg W orel ¥ T8I & — 69.
1§ 4 2) 2
3 1 4 3
70. a‘rcraqm_‘zﬁva%qvara%rrs‘r— 70.
1 4 @2 6
3 2 @ 1
71, AR 99 P AR ww 315 g, ar g 7L
 ufafee @1 W g =
1) 645 (2) 8:45
3) 615 @ 3:15
72. BSl P dA® WWI 6:00 B, o <gUr 72
ufafew w1 w7 g —
O 11:30° ) 6:00
@) 315 @) 8:45
73. WSl B AEAd WG 9:00 8, @ g 73,
yiafer &1 W v -
1 3:00 (2) 6:00
(3) 9:00 @) 12:00
74, "SI BT OAID [T 5:45 8, @ qder 74,
- yfafes &1 99y E‘ﬂn -
(1) 5:15 (2) ' 5:45
A3) 615 @) 3:45
NMMS Page 14 of 32

on thre€ surfaces only-
ur

(2) 10
4) 6

Red colo
a 8
3) 12

s only-
Red colour on tWO surfaces only

a1 10 2) 12

3) 16 4) 18
None of the surface with red colour -

a 4 2 2

3 1 @) 3
Red colour only on on¢ surface -

1P 4 2) 6

3 2 @ 1

If the actual time of the clock is 3:15, then the
time of mirror image will be -

(1) 645 (2) 8:45

(3) 6:15 4) 3:15

A

If the actual time of the clock is 6:00, then the
time of mirror image will be -
(1) 11:30
3) 3:15

(2) 6:00
(4) 8:45

If the actual time of the clock is 9:00, then the

time of mirror image will be -
1) 3:00
3) 9:00

(2) 6:00
4) 12:00

If th ime q :
€ actual time of the clock is 5 :45, then the

ti iror jm
Ime of mirpgy Image wi]] pe -

- @ 515

(2) 5:45

& 615 @ 345
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e wes (75-77) : vdF yw § @i Ry 7w
g1 I Ifex/deR W fremr grr 59
e @ 7 § | 9dE 9 N @ @ B afew
(?) Rre oy war 21 99 Raa wm= () &

Direction: Question (75-77) : In each
question there are squares. Certain numbers
are given inside/outside the squares according
to a particular rule. In each question one
square has (?) mark inside it. Choose the
correct answer to fill in the space marked (?)

T B e w8 - from the given alternatives -
75. 13 9 7 16 17 6 7s. 13 9 7 16 17 6
21 17 25 21 ? | %
8 12 11 10 18 9 8 12 11 10 18 9
Q 24 ‘ @ 23 ® 24 @ 23
@) 22 @) 26 @ 22 @) 26
76. 3 1 7 6 0 3 76. 3 1 7 6 0 3
39 89 ? 39 89 | ?
5 2 2 0 5 4 5 2 2.0 5 4
(1) 50 2) 59 1 50 (2) 59
B3) 49 @) 69 @3) 49 @) 69
77. 3 S 4 7 3 5 77. 3 5 4 7 3 5
33 1 2| 35 33 ? 35
6 3 5 4 5 4 6 3 5 4 5 4
1) 34 @ 3 1 34 (2 31
3 46 4) 48 3) 46 4) 48
frder: ueT (78-80): fay Mg it & = @ust § Direction: Question (78-80): Out of the nine
A TP @US Wlell BIST AT § 71 A TGSt cells of square given, one cell is left blank and
# g ford g € o fa e faw the rest of the cells have numbers written
PT YTt FIT 2 | gqq a9 &1 sTa R %) which follow some rule. Find that rule and the
Tgve @ v Sha Ao ?f'TQI proper option for blank cell (?).
78. 9 | 49 4 78. 9 | 49 4
16 |7 | 81 lie | 2 | a1
64 1 25 64 1 25
1) 48 @) 65 1 48 @. 65
3 19 ) 36 3 19 4) 36
NMMS Page 15 of 32
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| 15 24
79. ™ 9. 12 |
15 | 24 ool v ?
13 17 ? 10 19 22
10 19 22
@ 26
@ 21 @ 26 @ 2l
@) 23
@) 20 @ 23 3 20
- ‘ o | 21 | 7
80. 51 217 80. 7|2 A
9 18 4
9o | 18] 4 ==t r
12 | 3 8 | 12
@ 17 @ 7 @ 17 2) i
@3 6 4 28 3 6 (4) 28
fader g (81-85): Direction: Question (81-85)
TEl fabed gy — " Find out the correct alternative -
- 81, JMIRR : ISR :: 81 ~ Centimeter : Meter ::
1) frareieR : e (1) Kiloliter : Liter’
2) vovs :fafre (2) Second : Minute
@) T : freier (3) Distance : Kilometer
@ I : Ao (4) Joule : Volt
82. NTSIRTT : SRAYR 82. Rajasthan : Jaipur ::
(1) ¥ERTE :3<R ’
(1) Maharashtra : Indore
2 IRES: " '
& (2)  Jharkhand : Poona
(3 SUWRY : AR '
' (3)  Uttar Pradesh - Nagpur
(4) USH :gUENTSG . :
) .‘(4) ‘ Punjab : Chandigarh
83. YR : PEIE ‘
' 83. Computer : Keyboarq -;
1) U R
' () Tree: Leaf
2) ¥4 : "5eH . . 5
5 (@) Tap: poy
(3) WUe : AEEe )
=) Laptop : Mopjje
@) 99 3139 : W69
(4) PendriVe .
_ B MOUSe
NMMS
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84. 2:9:: 84, 2:9::
(1) 3:28 @2 4:17 (1 3:28 Q) 4:17
(3) 5:27 @) 6:39 @) 5:27 @ 6:39
85. 17:23:: | 85. 17:23::
1) 5:29 (2) 5:19 1 529 (2) 519
3)  19:29 @ 2319 @) 19:29 @) 23:19
86. afR us widfe W ¥ TAKE=1790, 86. In a coding language, TAKE is written as
PLOT=5321 firr St &, @ PLATE @y g& 1790 and PLOT is written as 5321, then how
TR W § g YR R SIe? , will PLATE be written in that coding
' - language?
&) =SS0 @ 53701 (1) 35710 (2) 53701
(3) 53071 @ 53710 & 507 @& 370
87. ufe s Hidfds 99T # GROWTH =579312 87. Inacoding language GROWTH is written as
forar T 2, @ THROW @1 99 widfid 579312, then how will THROW be written in
qr91 ¥ g yer forar smo? that coding language?
1 12793 (2) 12397 (1) 12793 (2) 12397
3) 12937 (4) 12739 . @) 12937 4) 12739
88. aft HORSE @ IPQRF fear W@ @ 88. IfHORSEis SHiiens IPQRF then CAMEL
_ CAMEL & foRar SRR — will be written as -
(1) DBLDM - . (2) DZNDM (1) DBLDM (2) DZNDM
(3) BBLDM (4) DBNFM (3) BBLDM (4) DBNFM
89. af® RAMESH @' SZNDTG frar wig, @ 89. If RAMESH is written as SZNDTG, then
AJIT &1 foram mamm — AJIT will be written as -
(1) JATI (2) ZIHS (1) JATI (2) ZIHS
3) BUS (4) BIKU (3) BUS (@ BIKU
90. afe T& widfad W ¥ CORONA @ 90. In acoding language CORONA is written as
3151815141 for@r wmem &, o MASK &) 9 3151815141, then how will “MASK” be
m?ﬁ T # 5 geR forar smom? written in that coding language -
@) 1319111 (2) 1311911 1) 1319111 (2) 1311911
@) 1311191 @ 13111119 @) 1311191 @) 13111119
NMMS Page 17 of 32 T -
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SAT - Q. No. (91 to 180)

PART - B
‘ SCIENCE :
9. = % 4 gd & fAdeaw B & — 91.
(1) ¥ (2) g
3 g @
92, ?ﬂﬁﬁaﬁﬂwmmaﬁ 92.
5 |
1) R
) «fie @
(3) NPK
4) uem
93. mmw%mﬁwzﬁﬁaﬁm 93.
: ST &l & —
(1) orrH @R
(2) ¥g UPRT H TEH
(3) UW & A @I
. (4) UTeiRiE 3 ool F x@HY
94. dISMY] SO HA AT YRY Sfta § — %9,
1 e
(2) @aﬂaaﬁm
() 3
@) IxD
95, aﬁaﬁﬁvﬁﬁmzﬁmmm?s 95,
SISl T T FEd 7 :
1) dds . ?) Qarﬂiu
3 I 4 T
96. qﬁaﬁm%a&?aﬂ‘rﬁwmﬁwav—g 96,
' DI AT &7
(1) R
(2) TS HH
3) R s AR
@) s |
97, A el O ooy E R - 97.
(1) 3maraa-Ryar
(2) FETABar
3) T
4) garddar
NMM,S. . Page 18 of 32

he following pl

) ¢ the following planet j
Which oné © _

- n?
“("la)“”“hfafu (2)  Earth
@) Venus (4)  Satum
Which one of the following is not 4
chemical fertilizer?
(1) Urea
(2) Organic manure
(3) NPK
(4) Potash

The rate of absorption of water by the root
can be increased by -

. (1) Keeping it in shadow

(2) Keeping it in dim light

(3) Keeping it under the fan

(4) Keeping it in a polythene bag
A plant organism that produces spores is -

(1) Rose

(2) Bread Mould

(3) Potato

(4) Ginger |
Insects have a network of air tubes for gas
exchange called -

(1) Trachea @ Spiracles

Gills

Which anima] 15 found in the rain forests of
Western Ghats?

(1)  Elephant
(2)  New Worlg Monkey
)  Lion Taileq Macaque

() Chestcavity (4)

C)) Frog

Scanned with CamScanner



Which one of the following is an antibiotic

98. f=1 & 9 o W wfoifas siufer 87 98. ;
" dru
1) PO I (1;‘; Coffee powder
) wfeas Prre (2) Sodium carbonate
Q) Q‘E’Iﬂﬁz‘ﬁﬁ 3) Streptomycin
@) e IS (4) Yeast powder
99. aEAl B o GE FH WGP TUA © — 99. Which is the least polluting fuel for
‘ R tol rapuret vehicles?
(;) m (‘2‘) fl?fl?-r ' (1) CNG (2) Biodiesel
s ® _ , (3) Kerosene (4) Petrol
100. &R A W UGS BFA A GYL.......... 100. Friction 1S  .cccverienveenen by sprinkling
Bl ST 2 powder on the Carom Board.
1) @H (1) Reduced
Q) fw (2) Increased
3) smuRafda (3) Unchanged
4) T & IHA (4) Cant’s say
101. = # 9 fos Sﬂqﬁ"f @ @y B IR 9 101.  Which of the following frequency of sound
g el dbd 87 can’t be heard by our ears?
(1) 388 (2) 8&cH (1) 38Hz '(2) 8Hz
(3) 108008¢S (4) 6800 &SH (3) 10800Hz  (4) 6800 Hz
102. @ ara | Ifd & drelt fﬂﬁ ®T X — 102. The distance-time graph of an object
Hg ATH 8O — ' moving with a constant speed will be -
1) TF Sfed x&@r (1) A complex line
2) TS gd - (2) Adcircle
3) TEH I=d &0 (3) A straight line
(4) TS g @1 (4) A curved line
103. SfHcd # A_@N &1 Urad $al el %? 103. Where does the digestion of cellulose take
1n JaH place in Ruminants?
(2) IMEE™ -1 (1) In the mouth
@) aRir (2) Inthe stomach
) ; (3) In the esophagus
- (4 I #  (4) Inthe rumen
104. I Siel B TPpfa BRI B — 104. The nature of distilled water is -
(1) 3=ig (2 &Ny (1) Acidic (2) Alkaline
(3) Se™H @) 3FRe=Ed : (3) Neutral (4) Uncertain
1105.  40°C® U@ oflex Sl @ 70°C @& U eiiex 105. 1 liter of water at 40°C is mixed with 1 liter
S b 9y femr wan, s @1 9 of water at 70°C, what will be the
B — temperature of the mixture?
1) 110°C (1) 110°C
(2) 40°C H70°C®d 7 (2)  between 40°C and 70°C
(3) 30°C (3) 30°C
4 70°C @) 70°C
NMMS Page 19 of 32
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106.

107.

108.

109.

110.

111.

112.

e D s § B w3 98 wver &2
1 S @2) e

@ o @) T

R Wil AR N S W arg Y e
AT ST 27

1) =fE, Ao

Q) DR, Febr

) TyHAHTE, S

@) KT, HOR

$13 DR 60knvh I °1er | 25 MAfe gerd
2, S U 98 70km/h @ =@l N 36
fafe @ert &, @ FR R Tw B T wA
&l -

(1) 130km (2) -61km

(3) 65km 4 67km
AUHETA. H DI A 997 By 29

(1) JiRSE 1 (2) AR 3
(@) R 4) TEPE B
Y I D WSH A I HUF BT a8
HIfTI— '

1) AR s @ & @ owr @ e -

BT 7| .
i udor 78 B O 99 a1 iR _
el fora | |
B0 & udl 7 wfeat ¥ g8 7 &
& 419 e SR oo g9 91 ger
AT |

gl ' :
o f&H OR ¥ Rga av yalka @ o
€, Ol 98 g9d @ Hifd a8R ovar £, I
forra a1 &1 B |1 W 22
1) o g9 :
(2) NEEAE T
() FEIE yHE
@ AP TS

2

3)

@

106.

107.

108.

109.

110.

111.

G BT I A B @ o) SeRer avie 112,

g -
1)
(2
3)
@

FARIbe
HLIEIICE
AT

Fgfort

NMMS
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. T "
is not there 1N Newton’s disk’
colour 1 @ T

4) Pink
ixed in iron to make

Which
1
3
Which metal 1s M
stainless steel? o
Chromium, Nickel

(1)

(2) Copper, Sulf ur
(3) Aluminium, Zinc
(4) Zinc, Copper

A car travels 25 minutes at a speed of
60km/h, then it travels for 36 minutes at a
speed of 70km/h, then the total distance

covered by the car will be -

km (2) 6lkm
83 éggm @) 67km
Which vapour is used in CFL?
(1) of Oxygen (2) of Nitrogen
@3) ofMercury (4) of Hydrogen

Select the false statement regarding force of
friction -

(1) * If the surface is rough then the
force of friction is greater.

(2) If there is no friction then we can’t
write with a pen or pencil.

(3) Bearing between axle and hub of
cycles and fans increases the
friction force.

(4)  The bottoms of shoes get worn out

due to friction.

When an electric current is passed through

a wire, it behaves like a magnet, which
effect of electric current is this?

(1)  Thermal effect

(2)  Chemical effect

(3)  Magnetic effect

(4)  None of these
il 3 i.gmem Tesponsible for red colour of
blood is - _

1) Chlorophyn

(2)  Hemoglobip

3) Phloem

(4) Insulin
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Which one if used to make an electric

113. RSN &1 Rag a9 3 feae swn fear 113
ST 27 ' switch?
(1) IBemse (2 WaH (1) Bakelite (2) P.V.C.
3) udE @) g (3) Teflon (4) Nylon
114. 7R 3R wray TG B AN () BT WhA 114. The process of fusion of male and female
DEATT & — gametes is called -
1 es () AT (1) Fertilization  (2) Pollination
3) =+ @) qHod (3) Reproduction (4) Budding
115, Ao CAC B - SR, g9 @ 115." Wind moves from an area of........... pressure
83 B AR wfy B ¥ to an area of............. pressure.
D IO, e (1) High, High
(2) o, w9 (2) = High, Low
Q) w9, 3w (3) Low, High
4) o4 o (4 Low, Low
116. ™ &1 i & gy @) e fbar ST 116.  The strength of earthquake is expressed-
g -
1) =ge= 4 (1) in Newton
2) Raex M w® (2) onRichter scale
(3) #HAeR WA R (3) on Meter scale
4) T M W (4) onHertz scale
117. SRR & Dax &9 FROT gar 87 117. 'What causes marble cancer?
(1) CFC® &R (1) dueto CFC
(2) 3T 981 & BRI (2) due to acid rain
(3) UlET ER YN ® BRI (3)  due to greenhouse effect .
@) CNG & &R (4)  dueto CNG
118. WM ¥ I W $A B B &N ﬁ"rr ¥ " 118. Which charge is acquired by a glass rod
e fdfa grar 87 when rubbed with silk? '
(1) e (1)  Positive
(2) Zomaa (2) Negative
(3) SeRIA (3) Neutral
@) @ TE (4) None of these
119. 3 A1 WPHfad qAG 1 €A Aa AT 119.  Which one is man-made indicator not a
qaP &7 natural indicator?
n T4 ()  Turmeric
@ foc ( Litmus
@) A IR - (3) - Methyl orange
@) TSEd B ugReT (4)  China rose petals
NMMS Page 21 of 32
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15, )

129,

22

28

24,

§23,

WR A AR FAW friem @ qadis

BT ST ® —
(1) FrE=RE
(2) IVF
(3) IFV
@ FIv

4) ST ST

T ohal & ERevT B R &5 19 A
Tl 27 ' |

(1) TS IPARYY

@ IS ST

3) Slauved AREE &

@) e uw _ -
FH Dl & A # e wanr faar
ST 87 |

@ duhw

@ fghem

3

@) W= A

TR I P PIUIR ISl PedAT & —

1) e
2) sRa+
(3) c<RAe

@) R s

A B Tedbieer 3§ yRaffia o & g @7
MR -

(1) - FggIeE Rerdigwor

2 #Afer

3) fdvagq

4) dspHor

NMMS

120.

121.

122.

123.

124.

125,

Page 22 of 32

NC)

o)
- 3)

'The

echnique of artificial fertilizatiy,

Z:;idte the body iS.Cﬂ”cd -

1) Metamorphism

(2) IVF

3) IFV

@ FV
Which on€ of the
conductor of electricity?

(1) Salt Solution

(2) Hand Pump Water

(3) Pond Water

4) Distilled Water

following is not g

" Which is not a protected area for the

protection of wildlife?
(1) -Wildlife Sanctuary
(2) National Park
3) Biosphere Reserve Area
(4) Industrial Park

Which is used for metalling the roads?

)
)

Vaseline
Bitumen
Coke

(4) Paraffin Wax

Dark funnel shaped cloud is called -

(1)  Typhoon

Hurricane

Tornado .

@

Thunderstorm

Process of bn
alcohol jg called -
)
()
3)
@

verting sugar into

Nitrogen Stabilization
Molding

Fermentatjop,
Infectiop
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SOCIAL SCIENCE AR e
126, <R\ &7 gg Pd gall or? 126. When did the Battle of Plassey take place?
1 1757%. 2). 1659%. (1) 1757AD. (2 1659 AD.
(3) 1587%. (4) 1858%. (3) - 1587 A.D. (4) 1858 AD.
127. frafaRaa & § fazsr @ o f&9 uRar §  127.  In which of the following family was Birsa
g3 oar? Born? o
n M (1) Gond
(2) @ (2) Santhal
3) o1 | (3). -Munda
@) T A FE T _ (4) None of these
128. o AN ) <o fe @ e 128.  Who founded Arya Samaj?
(1) To M AiEA ’™ (1) Raja Ram Mohan Roy
@) SR O faemarR (2) Ishwar Chandra Vidyasagar
() < TET Gl (3) Swami Dayanand Saraswati
_ @) <l e (4) Swami Vivekananda
129. @l @<, & o &1 1 M o1? 129. What was the name of Swami
: | . Vivekananda’s Guru?
(D) FATER I (1) Keshab Chandra Sen ¥
2) AP RAEW (2) Ramakrishna Paramhansa
(3) ETeE TR (3) Mahatma Gandhi
@ SNfeRTE Bl (4) Jyotirao Phule
130, ‘<adE A o Rig afeR § 3R ¥ 3§ 130, “Freedom is my birth right and I will have
' ABR G| T8 AR fbe faar? it” Who gave this slogan?
1) 9 TR faes (1) Bal Gangadhar Tilak
(2) ST SATSTId -\q—q (2) LalaLajpat Rai
(3) wET “riedy (3 Mahatma Gandhi
@ @ e (4) Swami Vivekananda
131. ?} FarM fSHeT 9veR @Tfﬁﬁ 2, Pgad 131. Those resources whose reserves are limited
g— . . | R are called - | ' #
(1) IFAERUIY AR (1) Non-Renewable resources
) TaEiE G (2) Renewable resources
(3) uHfas HARHA (3) Natural resources
@ GITQEH f (4)  All of the above
NMMS Page 23 of 32
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Gagea the earth’s total area jg

132. Gt & @ awee @7 f g A 132 What perce

(Rere) s 27 B @ 30%
(1) 20ufem  (2) 30wk m 20%
3) 40% e

(3) 4oufea (4 70 e
133. = % @ o @ wanEl ¥ wfafra @ 133, Which of the

following is not included in

g - the power resources?
1) dIE 3 (1) Iron ore
(2) T (2) Coal
3 g (3) Petroleum
@ vpfas | | (4) Natural gas
134. Y f&g UBR & e fbar 87 | 134. What type of economic activity is
' . agriculture?
1) urifae fhar : , (1) Primary Activity
@) fedrs o | ) | (2) Secondary Activity
@) TS fha 5 5 | (3) Tertiary Activity
@) Sudad e+ . (4) All of the above
135. 9w & =1 Wre vo9d § — 135, The world’s major food crop is -
1 5 ' (2) #FHT | (1) Wheat (2) Maize
() =Ed - @) DU | (3) Rice (4) Cotton
136. ARG GfdE w1 BT oA R a¥ fhar 136, In which year the Constitution Assembly of
AT o417 . : India was formed?
1) 1946 2) 1856 | M) 1946 2) 1856
(3) 1916 4) 1919 4 | 3) 1916 4) 1919
137. 9RdE W™ F wEE § fea Wi 137,

How many Plmdamental rights are there in

aRFR 57 ndi
. 5 the Indian Constitution at present?

M @ - (D Five @ six

(3) o8 @ T - © Eigh @) Ten
138, <1U 941 H g fha s #? 138. H

OW many members gre there in Rajya
. Sabha?
(1) 245 2) 545
(2) . (1) 245
3) 200 (@) 745 ). .34

NMMS Page 24 of SN’__’_
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139, R ~rrery (areTeral) @ fras wRi A 139, Indian Court is divided into how many

qIeT TR 7 : levels?
(1) WR @) &= (1) Four (2) Three
B3 @ @) U (3) Two (4) Five
140. TS WO 9 qATgT AT oY 140. When was the Hurda Conference held?
M 17 e, 1734 1 17 July, 1734
(2) 22 anii, 1928 : (2) 22 April, 1928°
(3) 26 A, 1850 (3) 26 January, 1850
@) Sug Wi . (4)  All of the above
141. 1857 3 Hifty &5 oo 69 WiF W 7 b 141 From where and when did the Revolution
g%’ | ‘ of 1857 begin? |
(1) ™Rs, 107 1857 . (1) Meerut, 10 May 1857
2) EREwE, 289 1857 . (2) Nasirabad, 28 May. 1857
(3) <Ti®w, 357 1857 - (3) Tonk, 3 June 1857
@) URAYRT, 21 T 1857 _ (4) Erinpura, 21 August 1857
142. IIH e’ 9 #ART o€ 82 142. When is ‘Rajasthan day’ celebrated?
(1) 153 (2) 304 : (1) 15August (2) 30March
@) 18% @) 26 I | (3) 18 May (4) 26 January
143. RISTRI &7 G4 T ST B @1 82 143 Which is the oldest industry of Rajasthan?
1) T e . : . (1) Cotton garment industry
2 =< sEr . (2) Cement industry
(3) =Sl [T (3) Leather industry
(4) R [T R (4)  Sugar industry
144. QET WM e TS 3R WT@W B! 144. A place where documents and manuscripts
e R o @ - are stored -
(1) %R T8 (2) @R (1) Warehouse (2) Archives
@) R 4) wad () Inscription  (4) Building
145. <g<' 187 | 145.  What is ‘Rahat’?
1) ™ et ' 1) Food mgredlent
(2) Irarard A (2)  Traffic route
(3)’ AR HEIH . (3) Communication medium
@) Riurd &1 wwE . (4)  Trrigation source |
NMMS ' Page 25 of 32
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146.

147.

148.

149.

150.

151.°

152.

" Q)

VR @ @ Rrer F Rerd =el St 1 146.

T &1 Pt e I A BRarn
1) < A B

(2) I Y B

(3) A AARIEd Si

@ Sugw wh

qreTEd &1 FEivr {59 T | dearr ar? 147,

(1) 3dER Q) wEIR
(3) 3iNTuE 4) wrETEr
B3 IS A T TWIR FeaTd) 27

1
)

TMSEEH WBR
SqITe

3) fauer weR

@) B T
SRS W@ 81 § —
1) FEwE

2) fure

(3) wiEg

@) WoR
feuTTavT Tew dEe ® —
1) wwg
() dfra
TAT @ R?
1 9

2) wda
3 uh

@ Swf@en
TR BT OCH § —

1)

(2) Ut
@) fEme

'?Qﬁﬂvﬁﬁﬁ

qrIgHvS
VicHYS A

S

3)
@

oqr?

148.

149.

150.

151.

152,

NMMS
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' ¢ ‘Raniji Ki Baori” situateq
Which queen bu!

rnc - .?
in Bundi district of Rajasthan’

Rani Meenu Kanwar

(1)
(2)
3)
C)) |
Which ruler built the Tajmahal?

(1) Akbar (2) Jahangir
(3) Aurangzeb (4) Shah Jahan

A Government made up of many Parties is

called -

(1) Coalition Government
(2)
3)
@)

............ eeeneend the head of the Executive
Committee.

(1) Chief Minister

(2) MLA

3) MP

4) Government

The members of the Legislative Assembly
are called -

(1) MP
(3) Secretory

What is ‘Cholera’?
(1) Disease
()  Fruit
(3 Bird |
@) Al of the above

Rani Sanju Kanwar
Rani Nathavati Ji '
All of the above

Governor
Opposition Government
None

(2)
C)

Governor
MLA

Component of the environment is -
(0)) Lithosphere
()
3)
@)

Atmosphere
HYdrosphere .
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153. g2t 9 O s-qd FEel © - 153, The solid crust of the earth s called -

1) gafER (1) Environment
2) wdHvEd (2) Hydrosphere
3) XHvsd (3) Lithosphere
@ @ TE (4) None
154. 99 D UBR & — : 154. Type of rocks are -
1 ™ @ (1) Five 2) Two
) =R @) = (3) Four (4) Three
155. #7 ffifg 9«1 € - ‘ 155. Rocks formed by magma are -
(1) IEdE (2) FEEaRd (1) Sedimentary (2) Metamorphic
3) 3™ @4 o :rﬁ : (3) Igneous (4) None
156. qE WIS Y+ R BT & — 156. The place where the earthquake begins is
called -
1) STM T ' (1) Origin center
@) ' (2) Epicenter
@) g " (3) Valcano
@) Suga wf (4)  All of the above
157. @U@ E - - 157. Seismic waves are -
@ d—aaF (1) P-waves
2 T ‘ (2) S-waves
(3)  To—axdr (3) L-waves
@) Sude i _ (4) All of the above
158. (@ T HIG fbaT W § — | 158.  Earth quake is measured by -
1) g Q) Y@ | () Deposit (2) Seismograph
3) W (@) PR | (3 Valcano ~ (4) None
159. BId I IRl WRA © — 159. Mushroom rocks are found in -
@ wmd @) feFed | (1) Desert (2) Glacier
@ "Thaad @ BIS 8] (3) RiverValley (4) None
160. argEvSe # Waiftd Urdl O drell 39 § —  160.  The most abundant gas in the atmosphere
is -
1 I 2) 3RS (1) Ozone (2) Oxygen
(3) amE @) FrggeH (3) Argon (4) Nitrogen
NMMS Page 27 of 32
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 MATHS
161. GAGRO Tn+ 6=27 8, o n & 949 =@ 161.
P —
1 4 2 3
3) 5 @ 7
162. BT 128° T HERD BT HT A a1 BT 162.
a 52° (2) 51°
Q) 25° @ 90°
163. =gt ABCD ¥, a-?rvr C &1 #19 BT? 163..
1 90° (2) 80°
3 70° @ 110°
164. W9 A BT — 164.
32x39%3¢
n 27 2 81
3 9 @) - 54
165. e o &1 U 132 WAL T, ‘cﬁzﬁraﬁﬁw 165.
T BRAY ‘
(1) 42 /7. () 12 |,
3) 209/#H. 0 @ 21 /H.
166. 378..........90 | 166.
- Rew @M A o9 W o R 5 9= 99
gutear fanfora & wmg?
M s 2 9
3) 10 @ 2
167. 3ifwer 8 &1 e fRrest (Tally Bar)ﬁ welRfa 167.
far s —
@ 1
@ M W
@t I
@ M4
NMMS Page 28 of 32

aford

91—

I ation 70 + 6 = 27, what is the value
n equ

O(fl) nZ | 2 3
3) 5 @ 7
Find the supplementary angle of angle
](218) 52° 2) 51:
3 25° @ 90
1 ABCD, find the angle C.

In a quadrilatera

D

1 90° 2 80°
@3 70° 4 110°
Find the value of -
32x3x3°

a 27 2) 81

A3 9 4) 54

If the circumference of circle is 132cm,
what is the radius of circle?

(1) 42cm (2) 12cm
3) 20cm - - 4 2lcm
378........... 90

- Which of the following digit to be filled in

the blank so that number is divisible by 9?

.5 @ 9
® 10 @ 2

Data 8 is represented in tally bar as-

I

H
11
H 4|

@
@)
@
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168.

168' fh:{ L aﬂ '\‘Rﬂﬁ?{ ®HY FIT TP, What is the simplest form of fracuongi ?
@ 2 (2 1 1 2 2 1
3 7 e :
(3) 18 @ 2 3) 18 @ 2
26 13 26 13
169. 2 &1 99 g1 BIT? 169. Find the value of a°.
M o @ 1 1 o 2 1
3 a 4) a? 3) a @ a°
170. \Em 12798 & quf T FPE 3G T 170.  What will be the unit digit of the squares of
BITT? the number 12798?
M 6 2 4 (1 6 2 4
3 8 @ 5 @) 8 @ 5
171. T lilm | ﬁlﬁwﬁlﬂ?ﬁmtqﬁﬁ?{m 171. In Line Illlm, to which a transversal‘t’
2, ¥ x BT 99 F7 BRTY intersects, find the value of x.
' 14 m L m
‘120;/\ : /Z; 12(;/\ A
€ / / >t / /
M  60° @ 500 M 60° @2 50°
A3 120° 4)  40° 3 120° 4) 40° _
172. @ 22 Eﬁr A gfes forRag — 172. What is the additive inverse of number i—g?
) 12 @ =12 ® 12 @ =12
9 9 9 ; ’ 9
3 12 @ 0 3 12 @ =2
- 12 -9 12
173. &l q<e &1 FIT‘WFf =1 g - 173. Temperature of a week is following —
12°C, 20°C, 21°C, 19°C, 19°C, 21°C, 21°C, 55 20°C, 21°C, 19°C, 19°C, 21°C,
S¥ WiTe BT HIED TIIHI FqT E1° What is the mean temperature of that week?
(1) 2i°C. @ 19°C (I 21°C 2) 19°C
(3) 20°C @ 12°C - 3 20°C @ 12°C
174. & HINY — " 174.  Solve this -
2.30 + (3.5 x4.5) | 230+ (3.5%4.5)
1) 175 (2) 38.75 1) 175 (2)  38.75
(3) 18.05 4) 3.875 , 3 18.05 (4) 3.875
175. U& §&1 D1 2503 H @A 350% % 99 175. A chair was bought for Z 250 and was sold
fear mar| 39 W ¥ A ufdwa ) oy at ¥ 350. Calculate profit percentage in this
DTG — ' deal.
1) 50% 2) 30% 1) 50% (2) 30%
(3) 40% @) 60% (3) 40% @ 60%
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176. Q &1 A 31d HfTT — 176. Find the value of Q ~

3 1 Q :: (12 ?
1 Q 3 —_—
501 L
M® 9 @ s ® 9 @ 8
@ 7 @ 4 | @ 7 @ 4
177. 991 3§ @ S A1 FUF T 27 177.  Which of the following statement is true?
(1) < T DI TH Rap T 9417 T (1) Two acute angles can forma linear
= pair.
2) & TR Uh Wb T g7 T (2) Two right angles can form a linear
£ ' _ pair.
@) < fF P T e g e ' (3) Two obtuse angles can form a
TE E| | linear pai}:. X ~ |
i (4) All of the above statements are
@ B-q—g?ﬁr e W %I | true. i
178. ﬁFg,’, A(-3, -4) BT 1TIT'5 ﬁ P ?5{ ﬂ‘g’eﬁﬁT # 178. Point A(-3, -4) will be represented on which
yef3fa far sro? - quadrant in a graph?
(1) v It | (1)  First Quadrant
@) fada agata 2 Second Quadrant
@) g gty (3) Third Quadrant
@) =gl =gt : (4) Fourth Quadrant
179. AT 660 B AT UGS B 179.  Prime factorization of number 660 are -
| (1) 2x3x5x11  (2) 2x2x3x5x11 @D 2x3x5x11  (2)  2x2x3x5x11
(3) 2x3x11 4)  5x10x11 ) 2x3%11° @) 5%x10x11
180. BIUT 120° BT FAT FEd &7 180.  Angle 120° is called-
1) =T BT _ (1) Acute angle
@) < ) Right angle
3) 31faF I ()  Obtuse angle
@) T g P (4)  Linear Pair angle
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